

  SQL EXAM PAPER   	   	    

	
Candidate Name: __________________		Date:_________	
Directions for questions: 1 to 10: Select the correct alternative from the given choices.(No Negative Marks) 
	S.NO.
	QUESTIONS
	ANS

	1
	Which type of integrity preserves the defined relationship between tables when records are entered or deleted?
A. Entity integrity                           B. Domain integrity
C. Referential integrity                  D. User-defined integrity
	

	2
	The command to remove rows from a table 'CUSTOMER' is:
A.  REMOVE FROM CUSTOMER ...                           B. DROP FROM CUSTOMER ...
C.  DELETE FROM CUSTOMER WHERE ...              D. UPDATE FROM CUSTOMER ...
	

	3
	Which of the following is the original purpose of SQL?
A.  To specify the syntax and semantics of SQL data definition language
B.  To specify the syntax and semantics of SQL manipulation language
C.  To define the data structures                               
 D.  All of the above.
	

	4
	Default is a type of constraint although it does not really enforce anything
A. Yes                                                                        B.  No
	

	5
	A relation scheme is said to be in ______________ form if the values in the domain of each attribute of the relation are atomic?
A. Unnormalized                                                          B. First Normal
C. BoyceCODD D. None of these
	

	6
	What are the different events in Triggers?
A) Define, Create                                                         B) Drop, Comment
C) Insert, Update, Delete                                              D) Select, Commit
	

	7
	Which of the following SQL command can be used to modify existing data in a database table?
A) MODIFY                                                                 B) UPDATE
C) CHANGE                                                                D) NEW
	

	8
	 Identify the relationship between a Movie table and Stars table:
A. One to one                                                              B. One to many
C. Many to many                                                         D. None of above
	

	9
	The SQL keyword(s) ________ is used with wildcards.
A.  LIKE only                                                             B. IN only
C.  NOT IN only                                                         D. IN and NOT IN
	

	10
	The JOIN which does the Cartesian Product is called?
A. Left Join                                                                 B. Left Outer Join
C. Right Outer Join                      D. Cross Join
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